

NOTE

Determinacy of Bounded Complex Perturbations of Jacobi Matrices

Mirta Castro Smirnova

*Facultad de Matemática y Computación, Universidad de La Habana,
San Lázaro y L, Habana 4, Cuba
E-mail: mirta@cica.es*

Communicated by Walter Van Assche

Received March 25, 1998; accepted in revised form March 25, 1999

We consider complex Jacobi matrices G which can be decomposed in the form $G = J + C$, where J is a real Jacobi matrix and C is a complex Jacobi matrix whose entries are uniformly bounded. We prove that the determinacy of the operator defined by G is equivalent to that of J . From this we deduce that the determinacy of G is equivalent to the coincidence between the domains of definition of the operators G and its adjoint G^* . © 2000 Academic Press

1. INTRODUCTION

In this paper, we study operators given by a tridiagonal matrix

$$G = \begin{pmatrix} b_0 & a_1 & 0 & \cdots \\ a_1 & b_1 & a_2 & \cdots \\ 0 & a_2 & b_2 & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix} \quad (1)$$

with $a_n \in \mathbb{C} \setminus \{0\}$, and $b_n \in \mathbb{C}$, which is called a (complex) Jacobi matrix. During the last few years the properties of operators connected with infinite matrices with complex entries have attracted some attention (see [2–7]). This is due in part to their application to the study of the convergence of continued fractions, Padé, and Hermite-Padé approximations.

In [9, p. 99] the notion of determinacy of a Jacobi matrix G with complex entries was introduced. By analogy with the real case (see [1, p. 19]), the matrix (1) is determinate if there exists a $z \in \mathbb{C}$ such that

$$\sum_{n \geq 1} |p_n(z)|^2 = \infty \quad \text{or} \quad \sum_{n \geq 1} |q_n(z)|^2 = \infty, \quad (2)$$

where $p_n(z)$ and $q_n(z)$ are the solutions of the recurrence relations

$$a_{n+1} y_{n+1} + b_n y_n + a_n y_{n-1} = z y_n, \quad n = 0, 1, 2, \dots \quad (a_0 = 1), \quad (3)$$

with the initial conditions

$$\begin{cases} p_{-1}(z) = 0, & p_0(z) = 1, \\ q_0(z) = 0, & q_1(z) = \frac{1}{a_1}. \end{cases} \quad (4)$$

A sufficient condition for the determinate case to hold (see [5, Lemma 1]) is that either

$$\sum_{n \geq 0} \frac{1}{|a_n|} = \infty \quad \text{or} \quad \sum_{n \geq 0} \frac{|b_n|}{|a_n a_{n+1}|} = \infty. \quad (5)$$

The concept of determinacy was used in [5] to prove the convergence of the continued fraction (Padé approximants) associated with (1). One of the aims of this paper is to clarify the "operator" meaning of the determinacy condition (2) for complex Jacobi matrices.

The infinite matrix G defines, by the usual operation of a matrix on a vector, an operator on the linear subspace of ℓ^2 formed by all vectors which have a finite number of components different from zero. Let G also denote the closure of this operator in ℓ^2 and G^* its adjoint. By $D(\cdot)$, we denote the domain of definition of the operator (\cdot) . In the case when $a_n \in \mathbb{R} \setminus \{0\}$ and $b_n \in \mathbb{R}$ (that is, for real Jacobi matrices), it is known (see [1, pp. 138–141; 8, p. 76]) that the determinate case holds if and only if

$$D(G) = D(G^*). \quad (6)$$

Taking into consideration the property of symmetry of a real Jacobi matrix, (6) means that the closed operator G is selfadjoint.

Here, we prove that for a large class of complex Jacobi matrices, determinacy and property (6) remain equivalent. More precisely, we have

THEOREM 1. *If the complex Jacobi matrix (1) admits the decomposition*

$$G = J + C, \quad (7)$$

where J is a real Jacobi matrix and C has uniformly bounded complex entries, then (2) and (6) are equivalent.

Theorem 1 is a direct consequence of Theorem 2.

THEOREM 2. *If the complex Jacobi matrix (1) admits the decomposition (7) where J is a real Jacobi matrix and C has uniformly bounded complex entries, then the determinacy of the matrices G and J are equivalent.*

The fact that the determinacy of J implies that of G was proved in Lemma 3 of [5]. Some sufficient conditions for the reversed statement were also given (see Lemma 4 and Remark 1 of [5]), whereas the proof that it is true in general was posed as an open problem. We present a proof of this fact in the next section. Here we deduce Theorem 1 from Theorem 2.

Proof of Theorem 1. Since C defines a bounded operator on all ℓ^2 , we have that $D(C) = D(C^*) = \ell^2$. Because of (7), it follows that $D(G) = D(J)$ and $D(G^*) = D(J^*)$. Hence, $D(G) = D(G^*)$ if and only if $D(J) = D(J^*)$. But, as was mentioned above, in the case of real Jacobi matrices, this is equivalent to the determinacy of J which in turn by Theorem 2 is equivalent to the determinacy of G . ■

2. PROOF OF THEOREM 2

Before proceeding with the proof of Theorem 2, let us make some reductions and introduce new notation. A direct consequence of the Theorem of Invariability (see [9, p. 96]), is that a bounded perturbation on the coefficients b_n does not alter the condition of determinacy of a Jacobi matrix. Since the coefficients of C (and the imaginary parts of the coefficients of G) are bounded, there is no loss of generality if we restrict our attention to the case when the coefficients b_n of G are real numbers and they coincide with the corresponding coefficients of J . Thus, the coefficients of G are $a_n \in \mathbb{C} \setminus \{0\}$ and $b_n \in \mathbb{R}$, while the corresponding ones of J are $\tilde{a}_n \in \mathbb{R} \setminus \{0\}$ and b_n .

By $p_n^{(k)}(z)$, $k=0, 1, \dots$, we denote the normalized associated polynomial of type k and degree n relative to (3). Such polynomials are defined as the solution of

$$\begin{aligned} a_{n+k+1} p_{n+1}^{(k)}(z) &= (z - b_{n+k}) p_n^{(k)}(z) - a_{n+k} p_{n-1}^{(k)}(z), & n \geq 0, \\ p_{-1}^{(k)}(z) &= 0, & p_0^{(k)}(z) &= 1/a_k. \end{aligned} \quad (8)$$

Notice that $p_n^{(0)}(z) = p_n(z)$ and $p_{n-1}^{(1)}(z) = q_n(z)$, since we took $a_0 = 1$. Analogously, we denote by $\tilde{p}_n^{(k)}(z)$ the associated polynomial of type k and

degree n which is the solution of (8) when we replace a_n by \tilde{a}_n . These polynomials correspond to J . Finally, let

$$P_n^{(k)}(z) = a_k \cdots a_{n+k} p_n^{(k)}(z) \quad \text{and} \quad \tilde{P}_n^{(k)}(z) = \tilde{a}_k \cdots \tilde{a}_{n+k} \tilde{p}_n^{(k)}(z)$$

be the corresponding monic polynomials. For future reference, we would like to underline that the polynomials $\tilde{P}_n^{(k)}(z)$ satisfy the recurrence relations

$$\begin{aligned} \tilde{P}_{n+1}^{(k)}(z) &= (z - b_{n+k}) \tilde{P}_n^{(k)}(z) - \tilde{a}_{n+k}^2 \tilde{P}_{n-1}^{(k)}(z), & n \geq 0, \\ \tilde{P}_{-1}^{(k)}(z) &= 0, \quad \tilde{P}_0^{(k)}(z) = 1. \end{aligned} \quad (9)$$

Let us assume that J is indeterminate. Because of the Theorem of Invariability this is equivalent to

$$\sum_{n \geq 1} |\tilde{p}_n(0)|^2 < +\infty \quad \text{and} \quad \sum_{n \geq 1} |\tilde{p}_n^{(1)}(0)|^2 < +\infty. \quad (10)$$

We must prove that relations (10) are also true at $z=0$ for the polynomials $p_n(z)$ and $p_n^{(1)}(z)$. We will prove this using a relation between the polynomials $\tilde{p}_n(z)$, $\tilde{p}_n^{(1)}(z)$ and $p_n(z)$, $p_n^{(1)}(z)$. In order to simplify the notation, in the sequel we denote

$$p_n^{(k)}(0) = p_n^{(k)}, \quad P_n^{(k)}(0) = P_n^{(k)}, \quad \tilde{p}_n^{(k)}(0) = \tilde{p}_n^{(k)}, \quad \tilde{P}_n^{(k)}(0) = \tilde{P}_n^{(k)}.$$

The following relation is the key in the proof. For all $n \geq 2$, we have

$$p_n^{(m)} = \frac{\tilde{P}_n^{(m)}}{a_m \cdots a_{m+n}} + \sum_{k=2}^n \frac{\tilde{a}_{m+k-1}^2 - a_{m+k-1}^2}{a_{m+k-1}} \frac{\tilde{P}_{n-k}^{(m+k)}}{a_{m+k} \cdots a_{m+n}} p_{k-2}^{(m)}. \quad (11)$$

Fix m , the equality can be proved by induction on the parameter n . Using (8) it is easy to verify that (11) holds for $n=2$ and $n=3$. Let us assume that (11) is true for all values of the parameter up to $n-1$, $n \geq 4$, we will show that it also holds for n .

Using (8) with $z=0$, we have

$$\begin{aligned} p_n^{(m)} &= -\frac{b_{m+n-1}}{a_{m+n}} p_{n-1}^{(m)} - \frac{\tilde{a}_{m+n-1}^2}{a_{m+n-1} a_{m+n}} p_{n-2}^{(m)} \\ &\quad + \frac{\tilde{a}_{m+n-1}^2 - a_{m+n-1}^2}{a_{m+n-1}} \frac{1}{a_{m+n}} p_{n-2}^{(m)}. \end{aligned} \quad (12)$$

Substituting in the first two terms to the right of (12) the expressions given by (11) for $n-2$ and $n-1$ in place of n , and rearranging the sums conveniently, we obtain

$$\begin{aligned}
p_n^{(m)} &= \frac{-b_{m+n-1} \tilde{P}_{n-1}^{(m)} - \tilde{a}_{m+n-1}^2 \tilde{P}_{n-2}^{(m)}}{a_m \cdots a_{m+n}} \\
&+ \sum_{k=2}^{n-2} \frac{\tilde{a}_{m+k-1}^2 - a_{m+k-1}^2}{a_{m+k-1}} \frac{-b_{m+n-1} \tilde{P}_{n-k-1}^{(m+k)} - \tilde{a}_{m+n-1}^2 \tilde{P}_{n-k-2}^{(m+k)}}{a_{m+k} \cdots a_{m+n}} p_{k-2}^{(m)} \\
&+ \frac{\tilde{a}_{m+n-2}^2 - a_{m+n-2}^2}{a_{m+n-2}} \frac{-b_{m+n-1} \tilde{P}_0^{(m+n-1)}}{a_{m+n-1} a_{m+n}} p_{n-3}^{(m)} \\
&+ \frac{\tilde{a}_{m+n-1}^2 - a_{m+n-1}^2}{a_{m+n-1}} \frac{1}{a_{m+n}} p_{n-2}^{(m)}.
\end{aligned}$$

On account of (9), this formula reduces to (11).

Proof of Theorem 2. If the first condition in (5) takes place, it is easy to conclude that both G and J are determinate (Lemmas 1 and 4 of [5]). Therefore, we may assume that

$$\sum_{n \geq 0} \frac{1}{|a_n|} < \infty. \quad (13)$$

In particular, $\lim_{n \rightarrow \infty} |a_n| = \infty$. Under this condition, from the boundedness of the coefficients in C , it is easy to check that there exists a constant $M_1 > 0$ such that

$$\left| \frac{\tilde{a}_k^2 - a_k^2}{a_k} \right| = \frac{|\tilde{a}_k - a_k| |\tilde{a}_k + a_k|}{|a_k|} \leq M_1 < \infty, \quad k = 0, 1, \dots \quad (14)$$

On the other hand, from (13) and the boundedness of the coefficients in C , it follows that for any $n \in 0, 1, \dots$ and $k = 0, \dots, n$

$$\left| \frac{\tilde{a}_k \cdots \tilde{a}_n}{a_k \cdots a_n} \right| \leq \prod_{j=k}^n \left(1 + \left| \frac{\tilde{a}_j - a_j}{a_j} \right| \right) \leq \lim_{n \rightarrow \infty} \prod_{j=0}^n \left(1 + \left| \frac{\tilde{a}_j - a_j}{a_j} \right| \right) \leq M_2 < \infty. \quad (15)$$

Let $m \in 0, 1, \dots, n = 2, 3, \dots$ and $k = 2, \dots, n$. Set

$$\alpha_{n,k}^{(m)} = \frac{\tilde{a}_{m+k-1}^2 - a_{m+k-1}^2}{a_{m+k-1}} \frac{\tilde{P}_{n-k}^{(m+k)}}{a_{m+k} \cdots a_{m+n}}, \quad \beta_n^{(m)} = \frac{\tilde{P}_n^{(m)}}{a_m \cdots a_{m+n}}.$$

With this notation, we can write (11) as

$$p_n^{(m)} = \beta_n^{(m)} + \sum_{k=2}^n \alpha_{n,k}^{(m)} p_{k-2}^{(m)}, \quad n \geq 2. \quad (16)$$

We are particularly interested in this formula for $m=0, 1$. On account of (16), it is known (see [1, Lemma 1.3.2]) that from

$$\sum_{n \geq 2} |\beta_n^{(m)}|^2 < +\infty \quad \text{and} \quad \sum_{n \geq 2} \sum_{k=2}^n |\alpha_{n,k}^{(m)}|^2 < +\infty \quad (17)$$

it follows that $\sum_{n \geq 1} |p_n^{(m)}|^2 < +\infty$. Thus in order to conclude the proof it remains to verify that (17) holds for $m=0, 1$.

From (15), it follows that

$$|\beta_n^{(m)}| = \left| \frac{\tilde{a}_m \cdots \tilde{a}_{m+n}}{a_m \cdots a_{m+n}} \right| |\tilde{p}_n^{(m)}| \leq M_2 |\tilde{p}_n^{(m)}|.$$

From (10), it follows that $\sum_{n \geq 2} |\beta_n^{(m)}|^2 < +\infty$, $m=0, 1$. On the other hand, from (14) and (15), we have

$$|\alpha_{n,k}^{(m)}| = \left| \frac{\tilde{a}_{m+k-1}^2 - a_{m+k-1}^2}{a_{m+k-1}} \right| \left| \frac{\tilde{a}_{m+k} \cdots \tilde{a}_{m+n}}{a_{m+k} \cdots a_{m+n}} \right| |\tilde{p}_{n-k}^{(m+k)}| \leq M_1 M_2 |\tilde{p}_{n-k}^{(m+k)}|.$$

Therefore, making use of the well known formula (see, for example, formula (17) in [5])

$$(\tilde{p}_{m+n-1}^{(1)} \tilde{p}_{m+k-1}^{(0)} - \tilde{p}_{m+n}^{(0)} \tilde{p}_{m+k-2}^{(1)})(z) = \tilde{p}_{n-k}^{(m+k)}(z),$$

and (10), it follows that

$$\begin{aligned} \sum_{n \geq 2} \sum_{k=2}^n |\alpha_{n,k}^{(m)}|^2 &\leq M_1 M_2 \sum_{n \geq 2} \sum_{k=2}^n |\tilde{p}_{m+n-1}^{(1)} \tilde{p}_{m+k-1}^{(0)} - \tilde{p}_{m+n}^{(0)} \tilde{p}_{m+k-2}^{(1)}|^2 \\ &\leq 2M_1 M_2 \left(\sum_{n \geq 2} |\tilde{p}_{m+n-1}^{(1)}|^2 \sum_{k=2}^n |\tilde{p}_{m+k-1}^{(0)}|^2 \right. \\ &\quad \left. + \sum_{n \geq 2} |\tilde{p}_{m+n}^{(0)}|^2 \sum_{k=2}^n |\tilde{p}_{m+k-2}^{(1)}|^2 \right) \\ &\leq 4M_1 M_2 \sum_{n \geq 0} |\tilde{p}_n^{(0)}|^2 \sum_{k \geq 0} |\tilde{p}_k^{(1)}|^2 < +\infty. \end{aligned}$$

The theorem is proved. ■

ACKNOWLEDGMENTS

The author thanks Professor G. López for the statement of the problem and continued support and Professor A. I. Aptekarev who attracted our attention to the operator meaning of determinacy for nonsymmetric operators with complex entries.

REFERENCES

1. N. I. Akhiezer, "The Classical Moment Problem," Oliver & Boyd, London, 1965.
2. A. I. Aptekarev, V. Kaliaguine, and W. Van Assche, Criterion for the resolvent set of nonsymmetric tridiagonal operators, *Proc. Amer. Math. Soc.* **123** (1995), 2423–2430.
3. D. Barrios, G. López, and E. Torrano, Location of zeros and asymptotics of polynomials satisfying three-term recurrence relations with complex coefficients, *Mat. Sb.* **184** (1993), 63–92; English translation, *Russian Acad. Sci. Sb. Math.* **80** (1995), 309–333.
4. D. Barrios, G. López, and E. Torrano, Polynomials generated by a three-term recurrence relation with asymptotically periodic complex coefficients, *Mat. Sb.* **186** (1995), 3–34; English translation, *Mat. Sb.* **186** (1995), 629–659.
5. D. Barrios, G. López, A. Martínez, and E. Torrano, On the domain of convergence and poles of complex J -fractions, *J. Approx. Theory* **93** (1998).
6. B. Beckermann and V. A. Kaliaguine, The diagonal of the Padé table and the approximation of the Weyl function of second order difference operators, *Constr. Approx.* **13** (1997), 418–510.
7. V. A. Kaliaguine, Hermite–Padé approximants and spectral analysis of nonsymmetric operators, *Mat. Sb.* **185** (1994), 79–100; English translation, *Russian Acad. Sci. Sb. Math.* **82** (1995), 199–216.
8. E. M. Nikishin and V. N. Sorokin, "Rational Approximations and Orthogonality," Nauka, Moscow, 1988; English translation, in "Translations of Mathematical Monographs," Vol. 92, Amer. Math. Soc., Providence, 1991.
9. H. S. Wall, "Analytic Theory of Continued Fractions," Chelsea, New York, 1973.